D.A.V.NCL PUBLIC SCHOOL BLOCK-B, AREA GORBI
SAMPLE PAPER TERM-II EXAMINATION

SESSION: 2024-2025

Class: VII

Subject: Mathematics
General instructions:
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All questions are compulsory.

Maximum Marks: 80
Time: 3 Hours

The question paper consists of 36 questions divided into 5 sections A, B, C, D and E.
There is no overall choice. However, an internal choice has been provided in five questions of 1
mark, two questions of 2 marks, two questions of 3 marks, one questions of 5 marks.

SECTION-A
2x
If (g) = 1, then find the value of x. (1)
Find the value of (3° + 2°) x 5°. (1)
Out of 32 students, 8 are absent. What per cent of the students are present? 1)
Find 12% of 50 + 5% of 120. 1)
OR
Find x if 32% of x kg = 400 kg.
The highest degree of the variable in a linear equation is . 1)
Solve the following equation: 3(x — 5) = —21 1)
State true or false: In AABC,AB + BC > AC 1)
OR
The centroid of a triangle divides each median in the ratio
In the given figure 2P = 50°and £PRS = 115°, then find the value of x. 1)
¢
50°
5 115°
a & s
Two circles are congruent, if they have 1)
If AABC = APRQ , then BC= . (1)
How many equilateral triangles are needed to make a regular hexagon. 1)
1dm? = cm?. 1)
OR
Find the circumference of the circle with radius 14 cm.
The mean of 7, 4, x and 10 is 8, then find the value of x. @
Find the mean of first five whole numbers. 1)
OR
The observation that occurs maximum number of times is called Range. (True/False).
A tetrahedron has vertices. @
OR
Which of the following in the given list is a 3D-figure.
Circle, Square, Sphere, Rectangle.
How many edges does a square pyramid have? @
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SECTION-B
Evaluate: (%)_3 + G)_Z + G)_l
Simplify: [(%)_1 X G)_l]_l

Find k, so that x = 3 is a solution of the equation kx + 8 = x — 7.
See the given figure and answer the following questions-

OR

A

#

c

(i) IsAAOB = ACOD? By which congruency condition?
(ii) Is it true to say AB=CD? Why?
OR

AABC is an isosceles triangle with AB=AC. AD is the altitude from A on BC (as
shown in the given figure).

B Z S

State the three pairs of matching parts to prove AABD = AACD, also write the
congruency condition used.

Construct an equilateral triangle one of whose side is of length 5 cm.

The height of a parallelogram is 3 dm. If the area is 240 cm?, find the base of the
parallelogram.

Draw a net for a tetrahedron.

SECTION-C

|f§ — (Z)_z X G)O, find the value of (g)_z

At what rate percent per annum will a sum of money double itself in eight years.

The sum of two numbers is 95. If one number exceeds the other by 3, then find the
numbers.

OR
The length of a rectangle is three times its width. If the perimeter is 84 m, find the
length of the rectangle.
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In the given figure, AE=AC, £BAC = 40°, £ACF = 75° and BCF is a line. Find the

measure of 2BCE. 3
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Construct a triangle PQR with PQ=7.5 cm, ZRPQ = 45°, £RQP = 45°. Measure the
third angle. What kind of triangle is it?

OR

Construct a triangle ABC in which AB=4 cm, AC =5.2cm and A = 135°. Also
bisect £A and 4B.
A rectangular garden 78 m long and 35 m broad has a uniform path 1 m wide all
around it on the outside. Find the area of the path.
The mean of nine observations was found to be 35. Later on, it was discovered that an
observation 81 was misread as 18. Find the correct mean of the observations.

SECTION-D

A Toran is a frieze hanging named after a sacred gateway in Hindu, Jain and Buddhist
architecture. In India, a Toran is hung above the door way to the main room of the
house as a sign of welcoming.

Raju ,a student of class VII ,decided to make his own Toran for classroom decoration,
he took a rectangular sheet of paper of dimension 12 cm x 8 cm. He then marked the
midpoint E on side AD and cut out A BEC such a way that he is left with two
congruent triangles ABAE and ACDE . He then tied both the triangles with a ribbon
and hanged his Toran on the classroom door.

8cm

Based on the above information answer the following questions- (Answer any four)
(i) The length of AE is —

(@ 4cm (b) 6 cm (c)8cm (d) 10 cm
(1) Find the area of the triangle ACDE.

(@) 16 cm? (b) 20 cm? (c) 24 cm? (d) 48 cm?
(iii) Calculate the length of BE.

(@) 22 cm (b) 20 cm (c) 18 cm (d) 10 cm
(iv) Find the area of the triangle cut out AEBC.

(@) 16 cm? (b) 20 cm? (c) 24 cm? (d) 48 cm?
(v) The ratio of the area of AEBC to area of rectangle ABCD is —

@21 (b) 1:2 (c)4:1 (d) 1:4
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A farmer once tied his four cows at four corners of a square field of side 70 m. Each
cow was tied with a rope of length 35 m. The cows grazed freely throughout the day
and by the end of the day they cleared a portion of the field, leaving some grass
ungrazed near the center of the field.

A 35m 7 3Sm B

35m 35m

35 m 35m
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35m 3Sm

Based on the above information answer the following gquestions- (Answer any four)

(i) The area of the square field is —

(a) 500 m? (b) 4200 m? (c) 4900 m? (d) 5000 m?
(ii) The area grazed by one cow is —

(@) 962.5 m? (b) 900 m? (c) 1000.25 m? (d) 1100 m?
(iii) What area of the field remain ungrazed?

(a) 1000 m? (b) 1020 m? (c) 1050 m? (d) 1100 m?
(iv) What is the percentage of the grazed area with respect to total field?

(@) 22% (b) 78.57% (c) 44.21% (d) 55.62%
(V)What is the perimeter of one cow grazed area?

(@ 125cm (b) 220 cm (c) 252 cm (d) 130 cm

Study the double bar graph given below & answer the following questions- (Answer
any four)

[0 Ciass vix
Hl Ciass VIIX

Number of Students ==
N

(i) Find the ratio of students who like Badminton in class VI to students who like
Tennis in class VIII.

(@) 2:7 (b) 7:5 (c)7:4 (d)7:6
(i1) Total number of Hockey player in class VII & VIII.

(@) 40 (b) 13 (c) 20 (d)6

(ii1) Which sport is liked the most by class VI students —

(a) Football (b) Tennis (c) Badminton (d) Cricket.
(iv) For how many Football player students of class VIII are less than class VII.
(@2 (b) 3 (c)4 (d)5

(v) Find out the ratio of Football & cricket players in class VII-

(@) 8:9 (b) 9:8 (c) 4:5 (d) 5:4

(4)

(4)
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A water tank in a house can hold 500 | of water. In the morning tank was 10% full.
After filling the tank completely that family used 80 | water for washing clothes, 20 |
for drinking & 150 | for bathing.

Read the above information and answer the following questions. (any four)

(1) Find the percentage of water used for drinking-

(@) 5% (b) 4% (c)8% (d) 10 %
(i) How much water was in the tank before filling-

(@301 (b) 801 (c) 1001 (d)501

(iii) Percentage of water used for washing clothes & drinking -

(@) 20 % (b) 40 % (c) 10 % (d) 34 %
(iv) Total percentage of water consumed by that family -

(@) 25% (b) 50 % (c) 40 % (d) 30%

(v) The percentage of water they will save by using total 450 | of water out of full
tank.
(@) 10 % (b) 20 % (c) 25% (d)5%
SECTION-E

(i) Find the value of x: (_ %)_3 y (_ %)Sx _ [(_%)_2]_1

5
(if) By what number should (— %) be multiplied so that the product may be equal to

-1
(-5) 7
Two equal sides of a triangle are each 5cm less than twice the third side. If the
perimeter of the triangle is 55m, find the length of its sides.
In the given figure P and Q are two points on equal sides AB and AC of an isosceles

triangle ABC such that AP=AQ. Prove that BQ= CP.

A

B C

OR
In the given figure PQR and SQR are two triangles on a common base QR such that

PQ=SR and PR=SQ.
P s
\
\
> N
\;\“
f .
Q R

(1) Is APSQ = ASPR? By which congruency condition?
(i) State the three pairs of corresponding parts you have used to answer (i).
(iii) if £SRP = 40° and £QPS = 110°, then find £PSQ.
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DAV NCL PUBLIC SCHOOL BLOCK-B AREA GORBI, MP ZONE-D
SAMPLE PAPER FOR ANNUAL EXAMINATION

CLASS - VII MAXIMUM MARKS -80
SUBJECT -SCIENCE TIME ALLOWED -3 HOURS

GENERAL INSTRUCTIONS :-

* The question paper comprises of four sections - A, B, C and D. There are 36 questions in the question
paper. All the questions are compulsory.

* Section A - Question no 1 to 18 are Very Short Answer Type questions of 1 mark each.
Question no 19,20 are Assertion - Reason Type questions of 1 mark each.
Question no. 21 to 23 are Case Study based questions of 4 marks each.

* Section B - Question no. 24 to 29 are Short Answer Type | questions of 2 marks each.

* Section C - Question no 30 to 36 are Short Answer Type Il questions of 3 marks each.

* Section D - Question no 37 to 39 are Long Answer Type questions of 5 marks each.

* There is no overall choice in the question paper. However an internal choice has been

provided in the questions. Only one of the choices in such questions has to be

attempted.
SECTION -A
FILL IN THE BLANKS. (6x1= 6 Marks)
1. reproduce through budding.
2. is the national tree of India.
3. is the process of separating silk fibres from cocoons.

4. Water and minerals are transported, to various parts of a plant, by a network of tubes, called the

5. The point, where a concave mirror forms the image of a very distant object, is known as the
of the mirror.

6. Salts of nitric acid (HNO3) are named as

MATCH THE FOLLOWING. (4x1=4 Marks)
7. Tropical rain forest water vapour

8. Humidity sucker pads

9. Red eyed frog hot and wet summer

10. Sub-tropical equator

TICK (v) THE CORRECT OPTION. (4x1= 4 Marks)

11. Respiration helps in -

(@) locomotion (b) digestion (c) absorption (d) obtaining energy



12. The central point, of the section of the sphere, used for making a spherical mirror, is known as the-
a. pole of the mirror  b. centre of curvature c. focus  d. mid point of mirror
13. The layer of forest, where intertwined branches of trees are found, is known as the
a.canopy b.crown c.understorey d. forest floor layer
14. A common household device, that uses an electromagnet in its working, is-
a. electric bell  b. room heater c. geyser d. tube light
TRUE/FALSE- (4x1= 4 Marks)
15. Lemon juice tartaric acid.
16. Platelets help in the clotting of blood.
17. Lightning is a natural electrical discharge phenomenon.
18. The larvae secrete very fine filaments made of fats.
ASSERTION AND REASONING (2x1=2 Marks)
Choose the correct option in the following questions —
(a) Both A and R are correct and R is the correct explanation of A.
(b) Both A and R are correct but R is not the correct explanation of A.
(c) Ais correct but R is wrong.
(d) Both Aand R are wrong.
19. A- Metallic materials do not get charged up on rubbing.
R-They allow an electric charge to flow through them with ease.
20. A- Stamen is a male reproductive part.
R-. Petal is a colourful part of a flower.
V. CASE STUDY BASED QUESTIONS. (4%4=16 Marks)
21. Respiration is the name of the general process in which organisms convert sugars into biochemical
energy using oxygen. The process occurs in all organisms including animals, plants, fungi and
bacteria. During respiration, energy is produced. This energy is then used in different processes,
necessary to support life. In addition to producing energy, it also produces carbon dioxide as waste
products.
(i) Define respiration.
(if) What is the waste product of respiration?
(ii1). What is produced during the process of respiration?
(iv).What is the use of energy in our body?
22.The process of breathing can be divided into two phases — inspiration or inhalation and  expiration

or exhalation. In inspiration, air moves into the lungs while in later, air is forced out of lungs. The



lungs themselves have no muscle tissues . Their movement is controlled by the rib cage and the
diaphragm.
(i) Name two phases of breathing.
(if) What happens during inhalation?
(iii)The lungs does not have _ tissues.
(iv) By which organ the movement of lungs is controlled?
23.The simplest type of motion is motion along a straight line ( linear motion). For example, motion of a
train on a straight track, of an apple falling from a tree, of hailstones falling to the ground. We
realise that in all these cases , the objects concerned are moving along a ( nearly) straight path. We
call all such motionsas‘rectilinear’ or simply as ‘linear motion’.
(i) The simplest type of motion is motion.
(ii) Give one example of rectilinear motion.
(iii) The other name of linear motion is motion.
(iv) Motion of a falling apple from a tree is a periodic motion. (True/ false)
OR

During rectilinear motion objects travel a path.

20.Heat is a form of energy and temperature is an indicator of that energy. We often feel that we can get
an estimate of the temperature of the body by just touching it.However, though our senses do give us
an idea of temperature, they are often unreliable and misleading. For example, if we remove an ice
tray, and a packet of frozen vegetables, from the freezer compartment, the ice tray may appear colder
to our hand even though both are at the same temperature.

(i). Heat is a form of

(if) Sometimes the idea of temperature given by our sensesis __ and misleading.

(iii). Give one example of items which are cold around us.

(iv) Temperature is an indicator of solar energy ( true/ false).

OR
We can estimate the temperature of the body by just _it.
SECTION-B
V1. SHORT ANSWER TYPE -1 QUESTIONS. (6x2=12 Marks)

24. How can forecast, about a ‘clear sky, or an ‘approaching storm’ be made by measuring the
atmospheric pressure of a given region?

25. Name four practical devices based on the heating effect of current.

26. What are mineral acids?



27. State any two functions of the blood.  Or

What will happen if the xylem tissue gets damaged in a branch of a tree?

28. List down two precautions that a person can take if he is caught outside in the open during a

lightning strike.

29. Name any four trees that are common to the Indian sub-continent.
SECTION-C

VII. SHORT ANSWER TYPE -11 QUESTIONS.

30. State the laws of reflection.
31. How is trunk useful to the elephant?
32. What is short circuiting and overloading in an electric circuit,
33. In what ways is vegetative propagation better than sexual reproduction?
34. Write a short note on ‘rearing of silkworms’.  Or
Draw life cycle of silk moth.

35. State the functions of the three types of blood vessels.

36. All alkalies are bases but all bases are not alkalies. Justify this statement.

SECTION-D
VII1. LONG ANSWER TYPE QUESTIONS.

37.Draw a well labelled diagram of the human excretory system.
OR

Draw a neat , well labelled diagram of the human respiratory system

(7x3= 21 Marks)

(3x5= 15 Marks)

38. With the help of a suitable diagram, explain the meaning of the following terms for a concave

mirror.
(a) centre of curvature
(b) pole

(c) principal axis

39. a. Mention any four adaptations that have helped the polar bear to survive in the Polar Region.

b. The tropical rainforest has a large population of animals.” Explain why it is so?

Or

State any five points highlighting the importance of forests to mankind.
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DAV NCL PUBLIC SCHOOL, GORBI
Sample Paper-II
Session — 2024-2025
Class- 7" M.M. - 80
Subject- Social Science Duration- 3hrs

General Instructions:

a. The question paper comprises five sections — A, B, C, D and E. There are 35
guestions on the question paper. All questions are compulsory.

b. Section A- Question no. 1 to 20 are Very Short Answer Type Questions of 1 mark

each.

Section B- Question no. 21 to 27 are Short Answer Type Questions of 3 marks each.

Section C- Question no. 28 and 29 are source-based questions of 4 marks each.

Section D- Question no. 30 to 34 are Long Answer Type Questions of 5 marks each.

Section E- Question no. 35A and 35B are Map Based Question of (4+2=6) marks

—hD OO

SECTION-A (VERY SHORT ANSWER TYPE QUESTIONS)
A. Tick the correct option:
1. Which of the following is not a human activity?
a) Diverse land use  b) cleaning of forests c) new human settlements  d) formation of mountains
2. Which layer of the soil contains humus?

a) Bed rock b) weathered rock c) sub soil d) top soil
Or
3. The three states of water are-

a) Cloud, rain, river b) solid, liquid, gas

c) Salt water, fresh water, rain water  d) waves, tides, currents
4. In coastal areas, warm ocean currents cause-

a) Low temperature b) rainfall c) dryness d) global warming
5. Which one of the following is a threat to ecological balance?

a) Plantation b) wildlife protection c) population growth  d) growing crops
6. The temperate grasslands of North America are called the-

a) atancama Db) veld c) campos d) prairies
7. In which continent is the Kalahari Desert located?

a) South America b) North America c¢) Asia d) Africa
8. Rice, jute and tea are important crops of —

a) Indus basin b) Nile basin ¢) Ganga- Brahmputra basin  d) Amazon basin
9. Prithviraj Raso was written by-

a) Tulsidas Db) Chand Bardai c¢) AryaBhatt d) Abul Fazl



10. Name the language in which Ain -i- Akbari was written.
a) Arabic b) Persian ¢) Urdu d) Hindi

B. Fill in the blanks:

11. Bukka succeeded

12. was Akbar's guardian.
13. The s anintroduction to our Constitution.
14. Education empowers women to recognize her
15. Gender inequality hurts the interests not only of girls but also of
C. State whether following sentences are true or false.
16. Girls are schooled to be soft and obedient.
17. The law does not give equal proportion to all.
18. Din-i-ilahi was a socio - religious path started by Akbar.
19. The name 'Assam’ is derived from Ahom.
20. Sahara receives heavy rainfall in the winter season.

SECTION-B (SHORT ANSWER TYPE QUESTIONS)

21. Explain wholesale market?

22. How is stereotyping harmful?

23. Explain guerilla warfare of Marathas?

24. Why is Shah Jahan known as an 'Engineer King'?

25. Who built the Kirti Stambha at Chittor?

26. Which period is known as the mediaeval period in Indian History?
27. What are the major components of Ecosystem?

SECTION-C (SOURCE BASED QUESTIONS)

28. It is an important agent of gradation. A river, like any living form, has a ‘life cycle’. It takes birth in a
mountain or a hill, becomes larger where it is met by a number of tributaries, flows over plains and finally
ends when it reaches the sea.

In its early stage, the river is young. It flows over steep mountains where it's rate of erosion is maximum.
Due to down cutting work of a river, it forms striking youthful features like ‘I’ shaped and ‘V’ shaped
valleys, waterfalls, etc.

a) How a river like any living form has a life cycle??
b) In its early stage, the river is
c) In its early stage what is the rate of erosion?

d) Describe the youthful features forms by river.



29. Jalaluddin Muhammad Akbar ascended the throne at the age of fourteen under the guardianship of
Bairam Khan. The position of Mughals was not very strong in India. Hemu Vikramaditya had defeated the
Mughals and captured Agra and Delhi. In the second battle of Panipat, the Mughals, under the leadership of
Bairam Khan defeated Hemu in 1556 CE. Agra and Delhi were taken back and the capital was set-up at
Agra.

a) At what age Akbar ascended the throne ?
b) Who was the guardian of Akbar?
¢) In which year Mughals defeated Hemu?

d) After second battle of Panipat which city  became the capital of Mughals ?

SECTION-(D) LONG ANSWER TYPE QUESTIONS

30. What are the various problems related to the ecological imbalance? What steps should we take to solve
them?

31. What were the main achievements of Rana Kumbhar of Mewar ?
32. List five factors responsible for the decline of the Mughal Empire.
33. Suggest any four ways to end gender discrimination.
34. Why are the rainforests of the Amazon basin disappearing?

OR

How are oceans beneficial to us in improving the quality of life?

SECTION-E
35 A. In a outline map of India, locate and label the following:

a) Bangladesh
b) Two states with Alluvial soil
c) One state with Red soil

35 B. In an outline map of India, locate and label the following:

a) Jodhpur
b) Bikaner
OR
Calicut



D.A.V.NCL PUBLIC SCHOOL BLOCK-B, AREA GORBI
SAMPLE PAPER TERM-II EXAMINATION
SESSION: 2024-2025

Class: VII Maximum Marks: 80
Subject: Sanskrit Time: 3 Hours
a&ar:-

o 31{&HA UHUA U WU, 20 UAT:, 7 GBI Hled|
oUAD WUSH IHUPcT SO AU oIEe e |
CUHHSEIT YHUATER WA
e WUSHSEYT AU W]
gus: - ‘&’ (HUFSA-3faeg=Td) — (10)

1. & INfAfET-Tre ufscar qeagd Aqed 9 fowa- 4x1=4

AN RO FRear oEdafaaeTed TSAamETT TATahR a1
UUYH FTAHH HAHd| Tdiadedid HHATEEAIR WA AfemAiaarery
aVgIH FEIUIA| T GYAT Afeem AT 1972 JH A¥ HRAI-Yferg-Garai
fagmr @ e geffer aefdeh @ 3|l gfow-faam sfiadt fRoedr
Aergar o, al¥ur, @l T TWhdew  fRaedl e
PAARIVTAATAGA Teh TATIANT deld[HERT AfATH| Jer a1 fasrs-arfed
FREM FERaTEue Fgd dal a1 FRERAT™AT Fd HIdUAT: IdATcHE:
PRIGAT: gafddr: |

aegH HATH
(i) (i)
(ii) (ii)

9. ANfATWT-I1e0 ufdcar IgA Fahd g8 foad- 3x1=3
HAA: garoh: Al F: ufdfed e seofdl #Asweaer 8 g a
TS| WG A Feal T: ATAH RN | ATAT 3cUTT F: 30T T

STl QUTH 3Had| & fAew Senerd A Steld quie, 3iHad| gaon gae:

STefd], 31U 9T AET: FAEdd: HHA|

STemy Siel fpard quie 1A dg I 6 A fordeq|

SIFHATAH -
;-
. AT TaRE 3muiear fAsey-fRAuReT Fdeg- 3x1=3
3T g9 uYHEICHT: | FAzaET 3uR e: fAued| e @d7 A afed|

AU TSl AYI: G&IUNH 3Y: Jcdfed | UAd: Sd€ad: HAfd| @U: Pled

afe: 3mofdl duq Hidr: WE: Fded $died| Ploeed Hoar [e: 3

eifd, nfeufd @ sn Sleed AT FRd| YUIT - AT Sfad gare fer
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HAFHIH| FaT: aad Sielle] Wiled| I W 3UR |@ield gar: dafed| aur
Sed T WA Hafd|
get: 6 b Teofaa 3fAd v Ay fereeg|

gus: -'W (WAcHD-HRHA) (15)

sTaRes: Reeura ¥ o3 g oreeg- 1x5=5
O o,
T&Ie JA JH: |
3 P TAEG| dd TAUT FAT A I caed (i) eafa:
UfAraH 7SI Ured AT HHG: | GEpAAWY g & (i) K ETICH
oedre]| A AcusTd: @ifeer: (iii) pe| ST 3 AU Ahelal
Had UIeoq Sfd W #H (iv) | Rrqear #d1 (v) e
aa
GES AL 32T

R Toear FeouTd: e R Rebeaeta quaeg— 1x5=5

(i)
" LEE AL
EH))W gJ:, aIdreld, $Huh:, gaT:, qual
11
(iv) ?} IE:E :
(v) PERET FAY Tep: & |
3gar

Ao 3Rd g Ricar ‘Fel: quees:’ 3fd A 3g=d waa-
FEN: GAETeq: Ueh: HLYRW: Ml a8 SFeH (i) HHIA|
dE&g % T (i) AR dARAT Pl AT 3AdT: (i)

yafodn: 3MEAl Tan: AT AaRIq dgud T UIRIA
Ae: (iv) 9T HHAQ| FIHIET  Aad d: U ufig
Iy ‘geardumer 3 Rgae| 7l e da (v)
FT 3T gomele:, TENEUEY, NNd, RNeeE:,  $odd:
Fefaf@dia aerafa FEpasmyan 3igare Pear forgd- 1x5=5

(i) Fgar @ for@dY &1 (Meghna writes article.)
(i) & T TIaTerT STUar| (We will go to school.)
(iii) =TT AT FIM| (Ananya will go to the temple.)
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(iv) @ @il ST 9id &1 (Both of them drink water.)
(v) & g&dsd Ue T&l él (I am reading a book.)

gus: - A (UL -SITOH) (25)
UEad: ety gafRd des R aery ReeuEa @ad-
(i) aTferer 3|

(%) T (@) Tad (1) TET

(i) __ faurg e

(@) AT (@) A (31) FETH

(iii) T 78 fasfar

() HIEAF (@) HEaTH (M) PE
Uead: fadedsr: FHRd arged Rcar Ry Reerrenfa qgad-
(i) eaq g 7

() Teofd (@) ol (I1) ITBIH
(i) A AAT: JUEIH |

() SIS (@) HReId: (1) BReFfed
(i) G EGMWY: AH U: |

(®) ATEA (@) 3 (1) &
3UYh HEATArh HEpaue car forad-

(i) ax (18) Afeel: dR pafed|

() 3ETCA (@) 3rEer (31) 3rETERNTA
(ii) TSI (2) Urel oferd: |

(&) & (@) g (1) g

(iii) gay (4) I1A: Hfea|

() IdH: (@) IcaR: (31) Tcarik
AT tEBadueer o= afFufede ar Foar yeafddeus: s e
forga-

(i) TH: 3+ IAHA: dToiep: |

(&) Hegda: (@) 3ifage: (ar) I
(i) 9: eI _+ I I dagidl

(&) Fea (@) Tea (1) Herg
(i) I SFT: UcTded|

(@) gfd + 37aee (@) Td: + 3aee @) ufd + 3maea
(iv) g _+ 3NufY: RRET Rde: Hafd|

(®) g (@) gufa: (1) T
fégaR ypfa-reaa AeRcar Reeuaa q@@e=g-

(i) &1 3aedH (ITH+Fear) hrfd|

() ITfAcar (@) ITcdr a1) escar
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1x3=3

1x3=3

1x3=3

1x4=4

1x4=4



10.

1.

12.

(i) 3eATTR: A (IS +3Fcal) B UITd|

(&) gecar (@) guear (1) wfesearn
(iii) 9ot (AT +JHA) PreaTTH Tesd |

() ardH (@) urdiigHA (1) arfagH
(iv) 9TeT: OIS (ﬁraqym) g:Eﬁ Hafd|

(&) TaeaT (@) faEqcT (@) O
SRA-faARPgS-ugia Rcar forwd-

(i) Uar ___ wd Jeoidl

() g3 (@) gI (31) gaor
(i) 37cl |

() Prellgaled (@) Prelleeld (31) Preleat
(iii) gfe: 3UH A& |

(F) ATHATT (@) AT (31) IATSH
(V) OXd: HAfeelH Hied|

() TBE (@) & @an) &
PIEFId SRT-FAAVT-ugsd 3ar [{Asy-ug Rear awafa w&Eeg-
(i) afa HAYITOT Fied |

() Held (@) Hellla (1) el
(i) &: MAAT YA |

() aTferehr (@) drferh (31) Qrferent
(iii) FaTET 3 ORI & |

(@) frcer: (@) frden () Mo A
(iv) g&T8g gA1for afed|

() Srarfor (@) &g () &

gus: -‘g’ (UfSd-3garaas) (25)

AT IRl afSear g ST ford-

gat: AU IEAA 3d Haedr Wedm T SNdfed | HAlA J&Ton urer: Hdfed| ta
ure: Refed 3rdua ureun: weged| FAA 9E: W TRcA AR IFAIAF:
Teofed I T gefl: Welled| g&: U HISA: 39 gEia g.@fa o
gyafed| Ty A gom: Hafed, sava va witE: 39 Sed ad9eq faed
Tl Weg U I Fied | 3T T WIT-FIT-SeleRk-aRT: 3d o Wied|

(1) WU ol —
(i) g&TT: HEAT: T JRIcdl HART: HAIAFT: TTBled?
(ii) & EATPH 3 YeFedl Uleal T Shafed?
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13.

14.

(1) QoTarRT 3@ -

(i) g&T: HUH Belicd?

(ii) g&f: #fa Hgeaica?

() FREATIRH 3RAT-3FT 994 Fear for@a-

(i) ‘W Td 3R wied |’ ‘wfed’ 3fa fhamueed wdue fha?

() WReq (@) va (37) 37RT:
(il) ‘T GIT-FI-SFTR-aRT: §a T Wied |’ — 3T fopaue vy AR¥d?
() Td (@) 5a @) ed

FNfAfEd #eh ufsear g sawior fored-
TEAET {uYT g T HUSHd HYUTH|
AT H{UTT AH T FOTET YA

(1) TPHUeH SeRd-

(i) AME HET HWOUTH HTEA?

(i) T HET HUOTH IHTEA?

(1) QTR 3Rd-

(i) e TEEd fohe Hafar?

(i) FaoTEg Hquor Hreer Hafa?

() THEAFTERS SeRcA-

(i) #h ‘BT’ 3fd ugEd Ppd fF waaug ugwa?

(®) AT (T) T&IET (I1) HUSET
(i) TETE’ A ug o1 fasfeh: I3REa?

() TS (@) ga (1) TYAT
ATegrel ufSear wHEH ST forad-

&at - 31T BY eIl HArd?

HTOU: - Hded! HATH HTRIRAATIOT 3T AIdTH|

Ueh: &4: - (ReafRcdn) 3mar w8 Ieddn Hdedd 3T Jsa7d: | 31T
HI: TEIdT HRSIE: W Hal AR hAT F afesafd|

HTHU: - IMH MAAH|

&4l - 3RS Ud oS YRAJ|

(EH PToU TS Yodl AT SEuddiH)

(1) TPUSH SR —

(i) ‘3mdl HY FEIdl aa?’ 3fd Pl AHagdr?

(i) A AT AJH Hood: HUAfA?

(1) QAR 3ad -

(i) HEIT FEIATT T HTOUH IHeTd ATd:?

(ii) Teh: &F: v HPUTA?

Page 5 of 7

1x2=2

1x2=2

Yax2=1

1x2=2

1x2=2
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1x2=2



15.

16.

17.

18.

() fTAEMTIRH R —

(i) ‘TH! HTOU TS Yedl P 3GUAdHAI’ - TcIT Fedl-YcAledus Thd
HiEA?

() SIS (@) Year (31) 3TRIY
(i) ‘s’ s ThATUGET dq-UeH fehd 31TET?
(&) 3mar (@) 3= (3I1) Ha=aH

ACEITROT §O FUFATHIOT I[0T: |
JURITHIOT A1 AR &7l
Iead: - &7 (i) TR, (i) (iii) 39RO,
(v)____  9URET (V) &TAT (vi)___ 3TRUTH (HATd)

HooI- JA, WA, RO, IO, ARET, TOE

faar garfa faed e @nfa ara=)

Ul YA el 93 ad: gaEal
qarY: - O Qe () | Reaq degdar oroad| (i) 9 gead|
U GHET (iii) Hafed | YAET dR: T ATG: E (iv) |

BT HATHATTARTT for@eq -
(i) UhaT F: FAINIG dfe: el Tadue Rafaaior gred|

(i) TMUTelen: FPR Tdaed HIoT RYAH 30|
(iii) Tep: FFpR: A

(iv) ¥: T B Ppear RFPRET NddH] 3RE|

WIFhAUCATYcT YA P -

(i) ST1: 37qal HATH HTaT|

() & (@) &t (3T) T
(ii) B TRHA AT

() & (@) &t (1)

(i) FRAeR: urpfaseed 3 veafdl
(h) FET (@) HEH @[T P
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1x2=2
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gus: - ‘5 (Afecd AEoEA) (5)
19. U ufdear @Ay Reely Ygd 3o Rgd - 1x2=2
(i) ATHPYTH - PIh: PIH T TEAATTH Tpecra|
dd: - TU: ATIH W]
() ‘NAPYAH' YEH AT, ‘T’ 3YE: A& |
(@) ‘HAPYAH 3ASH 3HTEd, ‘Tb:’ Yg: &I
@31) st et
(g) 35 3t
(i) AfARYTH — ‘Aleed aRa: s Ffedl’ - 37 ‘Afegd ug fedhar-fasnfs:
& |
dad: — ‘wwr aer wll-faefe: wafa)
() ‘HABYT YA e, ‘T 3Yg: HEd|
(@) ‘ANTHPUFA IAEHA e, ‘deb:’ Yg: e

@) 3t et
(g) 35 32t
20. Sfaa-we=ughue ear fora=g - 1x3=3
(i) suR :  &Arh o 3eeT .7
() 3Hed: (@) gy (1) dfe:
(ii) 4: : d i h: : ?
(@) BT (@) forey (M) &
(i) FAGH . FTH  : ;. A ?
() UT=TH (@) gcar (31) TG
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D.A.V.NCL PUBLIC SCHOOL BLOCK-B, AREA GORSBI
SAMPLE PAPER
SESSION 2024-25
Class: VIl Maximum Marks: 80
Subject: Hindi Time: 3 Hours

ITags fader-
o TH WA-UT H &Y @3 § : WS -3 3R T
o eal Fr wEar 18 § 3k @l weaw AT )
o oAl ¥ Icax wAT: AT
s -3

1. (%) TFId TGIRT FT 9GHT 3H T 3rqa ereal 7 faf@w- (2)
S ezl & g\g A AAT AT N, 98 TheldT H 3GRT UIed T Bl
gad faeameft & e aadt i FAT-arofl 3ryar arfoer Jare 38
T ol @ dlelel & =iee] 98 faeandl o @& g &1 |8 39T e
A o, 38 fav 15 8 w1 36T 761 §1 Fo o o o §, S T
HE & Q@ A Bl W GAT HI gels AT o g1 aeda & Hedls 58
faudd gy Tl 3Uell IFATIAT IR HeET Al d AT H FAT & d@ld
foura 81 $o el # HRAVY A FHT H HAT H TETAT Tl IO
oETaT &1 O o1 dhael ST g &1 giAar & AholdH gfeddl A @ed
&I H Shiael S g1 Seehl Hheldl o W& AT & TGudeT T &

(W) T IR F IR W IA st IR R[/ffT fF &t a9t w (2)
foremeT Faf seme gar?

O STell 1 9R HRd FAT §H T §gd R gU U foF A o 9 S

HTHTH & TET AT §HA 3 dgd §U ST W et amet & & faul v

& IET T vl T Y, AT H oIl AU [oT, Yh-gR, &7 31T & 3R

FeH ST S 3§ | IGIS WcH Bld ol A &Y olgr of T&r 2| 3mer T&ar

ST AR AR gl Jeoig |

(1) WEIA ISITA F HTYR 9T & LT T & A Her-37eer & fAf@e- (2
Hel TARLT & TolT oM3e® gid g1 $IRd & TSI Bl 3T gl 3T Hal

HT ST Fgaldl gl 9l FHl a9 GHGIET Bl A & gl IH & a9 a3

3cUTGeh ST H HRA & JUH TU gl §H dRg-die & hdd HIS AT &l &r

YTehy 3HT 3TeIG olell digU]|

() I ‘F F IR W AT & Fea i@t & e f9135 6 s (2)
(3) Ty ‘F F IR W APT & gaar & wwaan safFda svar shaa (2)

fFe 9HR AT § 9UT 3T ThdT T 74T TET 82

1



2.

FYA (A) 3 FROT (R) F T 397 faFeqd o=t faf@w:-
(F) FUa (A) : 'HAT FT ST W IAT 3N G TFT ‘AT,
Tl FT TEF 3GTEI0T B
FROT (R) : ‘sfasad F1or & dcad- €19 gC FA7T A B
(i) U (A) 3R FROT (R) At WA §, Fiteh HROT (R) HYUA (A) I HEr
SATEAT HT &
(i) YT (A) 3R FROT (R) el FEY 8§, W FROT (R) FHYT (A) H FEr
SATEIT AGT T gl
(ili) YT (A) T &, W FROT (R) el &l
(iv) T (A) TTeld §, TR FROT (R) FE &
(@) FUT (A) : HAaFe’ Use TPAF Asg’ FT 3ETEIT
HROT (R) : ‘GifAF asg’ F acqd- WF ereg oY FFA) =7 Userer
1 Usg ATfE & T & =T &
(i) U (A) 3R FROT (R) At WET 8, Fiteh HROT (R) HYUA (A) T HEr
SATEAT T &
(i) YT (A) 3R FROT (R) el FeY 8, W FROT (R) FHYT (A) H FEr
SATEIT A&l T gl
(ili) YT (A) FE &, W HROT (R) el g
(iv) YT (A) TTd §, R HROT (R) G ¢
(1) FUT (A) : ‘B HY AT A A T TEIT aHT H AEy e
‘fvor 2
HROT (R) : Y g HAT TAT FoATH &7 RAdwar qara &, 38 ‘RAdwor
FEd &
(i) U (A) 3R HROT (R) St FET 8, Fiteh HROT (R) HYUA (A) T Far
SITEAT FAT gl
(i) YT (A) 3R FROT (R) ST TET 8, W FROT (R) HUT (A) H Fgr
SATEAT 18T T gl
(ili) YT (A) FE &, W HROT (R) el g
(iv) YT (A) TTed 8§, R HROT (R) FeT ¢
fArfaf@d geat # gt 3T RAFeT are 3cav oledt Af@T-

FUad : T : dC o ?

(i) Foor (i) T (iii) T (iv) T
(@ RA : 3 = HTRA : s ?

(i) FoR (ii) wfceher (iii) faudra (iv) faer
(M) aAa : FAAAT  n HIE D o ?

(i) ATAGar (ii) FHTsTT (iii) AT (iv) T[T

2

(1x3=3)

(1x3=3)



(F) 'er.. fraer g #taw B 5w g A e Ruw-Resw &1 owawr

gm?

(i) 9T P (iii) ToraAaTcaTys

(ii) qouT fawrA (iv) 3o farre

(@) Afaf@d 9ffa & Fia-81 aof oeel & IRH H IR-IR 3T 872
'‘we IR ™, g@ F @@ T e’

(i) '&" goT 3R ‘T o (iii) 'g" gof

(i) 'ar" got (iv) ‘T gof

fArfaf@a gl & ey Adugar fafee:-

() frafaf@a Rea wue i qfd Frvow F e av i aaeagays
3T garT Mfae-

------------ 3T TR 3T —memmm—- A T o V| (SHferu-foh/afe-d)

(@) FFfaf@a asal & ¥ Wond+ BT arar rsg Hla-ar 2
(i) gedr (ii) oreTaTar (i) @rRgar (iv) 3arar

TFdd el & YR W AdAear weAl & 3w e

(%) shfaaras F@ar arer asg Q@

LN

> - 7. ¢

o, o) -

(@) ‘T AfdaT asg Af@u]

Arafaf@a syat # geat T a1 TTaa [RfE-

() '®fd" Asg T ToldT Seoled I wfawr grm|

(@) 98 &7 o FIT o7 & AT & AU U Ase HETFT g
famafaf@a arat &t sRa wwet q@Err g A

(&) Ig T FAER o gl (& fow / )
(@) T&TT TP oo 33 % & (F /| W)
TAH-3 A U T & ereel &1 TAH -3 & =) F Y A7 ¥ Af@w-
s -3 s -3
(&) 38T (i) 3T e
(@) &l (ii) SereT 2reg
@) e (iii) deHH 2Ug

(1x2=2)

(1x2=2)

(1x2=2)

(1x2=2)

(1x2=2)

(1%3=3)



10.

11.

12.

frafaf@d eree)l & ¥ TUaaF Far-fReyer siee fAf@u-

(i) eR-ey (i) geg (i) IR (iv) sgd
fFfefEe ez W araRa sgiawedt weal & Faifs Iugad R[eeT
gt -

U f&oT 3 FW Teh Uder 33dl @I o Silel AT AIdhd 3P g6T ThGH
f@er 3o7| e & 9rd SRt alell, "@Iel, HIT Ueh Gciar Ham ar| 37l #Ham
arl”

Teoll T T & a1g  fARARI Igd IAAA-H | | "ITST Hm 3m,”
gl d 3619 AT ¥ 3R FHEl deof 1TY

YW I & AT SEd Ichfed ATl FE JOT sTOT fRAT A A S
HH| Tk SIE Y& X [a32aq & &lc M AT| -3 q@a 386 I
Teh Tl T W1 AR FW AGHT T &I Sie eloll| Teh Tdowil YT
96 Xl gl & T T

GiEaT el T oI5t Hie] AT F1 AT |
(F) oI Fad faw 3cHfea a1?

(i) gHAS ST & T (iii) Ic9T 33 & fow
(i) Fore @ & v (iv) Wel & HelT & o= & forw
(@) faedeay & A TIHT FT FIAT FROT AT?
(i) geelt &1 7Y (iii) #AT HT g
(i) YSWPIR T AT (iv) a1 fr T & HROT
(1) el fFweRT ST AT?
(i) Taedeay &r (iii) FATeIfRT FT
(il) grar arer @ r (iv) SfET gy &t
() o9 & FEl & FF qe?
(i e se @ (iii) e T AT T
(i) TarT s HE (iv) oA H &
(3.) Tger et oI & Ryam Y 99 ¥ frax $ Pwer?
(i) 37wy (iii) T
(ii) T T9AT (iv) Tdeat
ﬁmmammrwmw“ﬁa;mmﬁm
&I g faf@w-
g g, faufca S9 3 g,
PRI F & cgardl gl
AT 61 faafad g,
&T0T Ueh oTgl ¢ReT @d|
fAESAT T Il T g,

Pl H g S ¢ |
4

(1)

(1x5=5)

(1x5=5)



13.

14.

15.

(%) FIT 391 T @Y aT 87

(i) R (i) fasT (iii) PR (iv) FTST
(@) FlT 3va TET F Fafaa 78 a9 &2

(i) AT (i) greTa (iii) $?aX (iv) 9]
(1) |IAT FT FAT AT §?

(i) =9 (i) PR (i) reoT (iv) %

() Hfser aRfRufaat Frasr srsfia s &2
() k@ (i) P (ili) AST B (iv) PR @
(3.) weqa 9fFadl & Ffa FT FAT A9 7
(i) @eieTd (i) qXerE
(iii) ALY g "fTeAm (iv) & <5 HisUTel
gs - 'T
fArfaf@a vt & @ gl IR Teat & 3cax 25-30 orsel # -
(F) ATT Gar # FaeT aof & AerEe A 39e erear 7 @)
(@) 379e7 Y FI ATHR 6T 3R SaeT H Tholdl Ied a1 & TolT 41
HLAT 3AIF §? TIgH &l T’ U6 & 3UR W faf@u|
(1) ST IF & SATFded ¥ g Fa1 SO fHerd 82
() Too afFaal & R AR Qe =t 3 A8 @e? sE geaRomA!
39s ereal H faf@u
(3) o@sh o @T F41 goT T gren SEd Ig 9dr gordr § & giear & ;R
¥ ToId HAY 38 AU fhU 9T godrar g @1 U1? 379 Asat # fAf@u|
fArfaf@a vt & @ gl IR Teat & 3cax 40-50 ersel # f@w-
(F) FGIGU HT Foold Hel dTell TaT 3 FEATH & AR gl g1’
9IS ‘CAFT 9% & MUR W deh HFAT 3k AloiC|
(@) FHAIR IfFd & foregr diad TS fawant w gerer sifav)
(") 2T T Y AT & Flc @ Jq Aeprerer a1 3T a1? d&h
afed 3cax STl
() T A T 8T il & {el 901 faegAT A FA? I FEA
3R faf@u]
(3) Y% H A Y T FAYAH IO ST 1 Gl AT gleil 872

frmafaf@a & & fFl o vy w (80 rct #) rfeog fAf@T:-
(%) Toar &7 () ARAT fohareT
@@ F7 & G E

(2x4=8)

(3x4=12)

()



16.

17.

18.

fAfafaa & @ el v B9 v (100 ereeY #) v faf@w:-

(F) 3M9F &F F AT foeT MRAT & W &1 $Th Revad FId g e
o g7 faf@u|

(@) 39T 9deT S AT fohel-fohed foaAsar &1 Aretar Far? 59 R &
Id1d gT 39 A 1 g7 faf@el

farafaf@a & @ Fdl o vy W (40 er=al &) guen fAfEe-

(F) 39 Taegrerd A A fawel & daftrd qedent 1 Jeelel 1 3t
forar S @1 B, TSIEd g7 g &1 gEdehl W 25% s @ & Sel| g7 FeE
H 3MaIH STTPRT ¢ U e At

(@) 39 fGeare & 9ATaRor Fed & g g1 FaT aradi & @l fagafiar
I TATfeesd & 3YINT & AT H ARESAT Loll H AT ol & fow deanfed
I gV I AT

ffaf@a & o ol v v 9 (50-60 2rsel #) faaua faf@w:-

(F) ‘ST & Sae - 30 YT W e ¥ AAUT IR ST

(@) ST 9 FT FIAT THer ATH F TR H S gl 3T v Tdh 3HvH
faage IR AT

% 3k K 3k K 3k 3k k k%

()

()

()



